"

IGLAND

BL

nested &



IGLAND BL 1200

(>

Revised

Issued 14.06.2024

P/N 1G390425

Website Nosted.com/igland
E-mail corporate@igland-as.com
Phone +47 372 56 200

Reproduction of text or illustrations without permissions is prohibited

Original delekatalog



- SPARE PARTS LIST -

Contents

1. MAIN PART S e
2. BRACKETS FOR TRACTOR. ... .
3. STICKERS. ... e e

Page 3 of 7 ‘!!E

IGLAND



1. MAIN PARTS

RESERVEDELSLISTE — SPARE PARTS LIST

Pos.| Qty V;tri?u'ri?ﬁ/er Beskrivelse Description Specification
1 1 1G227214 Ramme Frame
2 | 2 1G227216 Bayle Hoop
314 1G227210 Plastplugg, firkant Plastic plug, quad
4 | 4 1G012417 Bolt Hex-Head Bolt DIN 931-1 - M20 x 120
51| 8 1G012270 Mutter Hex Nut DIN 985 - M12
6 | 4 1G012430 Mutter Hex Nut DIN 985 - M20
7 | 8 1G012843 Bolt Hex-Head Bolt ISO 4017 - M12 x 30
Q

Page 4 of 7 IGLAND




2. BRACKETS FOR TRACTOR

IGLAND

Page 5 of 7



RESERVEDELSLISTE — SPARE PARTS LIST

Item No./

Pos. | Qty Varenummer Beskrivelse Description Specification
1 1 IG500050 |Adapter, sett Trima - SMS Adapter, set Trima - SMS
2 1 IG500048 |Adapter, Avant Multione Adapter, Avant Multione
3 | 1 | IG500053 |Adapter, sett Alg type 3 Adapter, set Alg type 3
4 1 IG500056 |Adapter, sett HMV - SMS Adapter, set HMV - SMS
5 1 1G500062 |Adapter, sett Euro Combi Adapter, set Euro Combi
6 |1 IG500059 |Adapter, triangel Adapter, triangle
7 1 1G500063 |3-pkt. feste 3 point adapter
8 |1 1G500044 |Adapter, Scan frame Adapter, Scan frame
9 |1 IG500064 |Adapter, sett Bobcat Skid Steer | Adapter, set Bobcat Skid Steer
10| 1 IG500054 |Adapter, sett JCB 406-409 ZL |Adapter, set JCB 406-409 ZL
502-702 Volvo L30Z-35Z 502-702 Volvo L30Z-35Z
11 | 2 | IG500512 |[Avstandsjern Distance bracket
12 | 2 | IG500043 |Adapter, sett JCB Compact Adapter, set JCB Compact
Tools Carrier Tools Carrier
131 1G500046 |Adapter, Gravemaskinfeste Adapter, excavator S40
5S40
14| 1 1G500047 |Adapter, Gravemaskinfeste Adapter, excavator S50
S50
151 1 IG500067 |Adapter, sett John Deere Adapter, set John Deere
400-500 400-500
16 | 4 | 1G012423 |Bolt Hex-Head Bolt DIN 931-1 - M20
x 200
17 | 4 | 1G012430 |Mutter Hex Nut DIN 985 - M20

Page 6 of 7

AN

IGLAND




3. STICKERS

RESERVEDELSLISTE — SPARE PARTS LIST

Pos. | Qty V;ﬁzwumﬁ/er Beskrivelse Description Specification
1 1 1G390833 Klebemerke Igland logo |Stickers Igland logo
2 1 1G392006 Klebemerke CE N/A Stickers, CE N/A
3|1 1G391328 Klebemerke BL 1200 Stickers BL 1200
4 1 1G392045 Klebemerke, fare Sticker, danger

P
CE

IGLAN

IGLAND ===

5L 1700

AN

Page 7 of 7 IGLAND



